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. TEE | A4 Bl
(s | | AA
—{%IE B
XE _ |[KEBECc)| KEB(Cc) |EBUKE| FiR 18 BS
48| 5 21.9 16.4 == BE k- % mR
6H = 23.8 19.1 == REXR xER-% me
8A = 30.3 30.9 == BE B me
108 i 24.8 21.8 == BE Hixf % mR
128 5 12.8 15.5 == BE & - % wmR
28| 1REE 13.6 12.5 RE BE fok gR - % mR
4 ERSIEE 3
oH DO BOD SS KEEHK
(mg/1) (mg/) (mg/1) | (MPN/100ml)
=%(8]| 6.5~85 | 75LLE | 1.0LLF | 25LLF 50LLF
EHIE(75%1E) - 10 0.6(0.7) i 750
48] 76 10 <05 s 490
6A] 76 94 <05 <1 490
sAl 79 8.8 1.1 1 330
108 7.7 94 <05 <1 790
128 79 11 <0.5 1 1300
2A] 82 12 0.7 <1 1100
BFEER
NI INEDS & £n ANEvAL #HE fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EA(E] 0.01LLF | E#EHE | 001LLF [0.05LLF [ 0.01LLF | 0.0005LLF
EH{E]  <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128]| <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2A] - - - - - - -
ooant .o |1L,2-070(1,1-Zan| Y X-1,2->50][1,1,1-r)%0
PCB g, | PEERE | Qe | xRl OTFLY OT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
BE#EE] ERE [0.02LLF ] 0.002LLF [0.004LLF[ 0.02LLF [ 0.04LLF 1LF
SEHIE] <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
48] <00005 | <0002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
6 A] <00005 | <0002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
8Al - - - - - - -
108 <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
128 <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
24 - - - - - - -
1,1,2-ky4 [FUZAAR|FrS900I(1,3-247A — . —sen FARA
nazss | 3Ly | FLv | ngas | TOIA| ¥ROV %)
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E]0.006 L F] 0.03LLF ] 0.01LLF [0.002LL F[0.006 L F| 0.003LLF | 0.02ELF
SEH{E] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4A[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6 A| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
108]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2R - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE{E] 001LLTF 10.01LLF 10LLF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.22 <0.1 <0.1
4H| <0.001 <0.001 0.22 <0.1 <0.1
6H| <0.001 <0.001 0.26 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.22 <0.1 <0.1
12H] <0.001 <0.001 0.17 <0.1 <0.1
2R - - - - -
EDHIEHE
N e 2EX | &% @ | 28 | soosus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.32 0.029 - 0.005 <0.001 <0.008
4R - 0.28 0.008 - <0.005 <0.001 <0.008
6A| - 0.28 0.016 - 0.007 <0001 <0008
sA| - 0.29 0.010 - <0.005 - -
108 - 0.35 0.024 - <0.005 <0001 <0008
128 - 0.28 0.032 - <0.005 <0001 <0008
28] - 0.46 0.082 - <0005 - -
BiLH MR | VoY : i (= S
IT/=| kS coD el > AE ERiEER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (uS/cm)
EHE]  <0.02 13 0.8 <0.01 0.01 - 150
4H| <0.02 8 1.0 <0.01 <0.01 - 140
6H]| <0.02 11 0.6 <0.01 <0.01 - 94
8H - - 0.9 - <0.01 - 300
10H]| <0.02 8.3 1.0 <0.01 0.01 - 78
12H] <0.02 25 0.5 <0.01 <0.01 - 150
2R - — 0.8 — <0.01 — 150
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=9l =] I
2, BENXE| A4 BEI
(W#ER) | B2 AA
— g1 B
Xz |[SECC) | KiE(°C) | HBUKZE|[ EiR =i BR
48| 1hEE 23.1 16.2 == BE - me
68 £ 23.6 19.3 == REXR xER-% me
8H = 30.5 30.4 =RE BE k- wmR
108 i 25.1 21.8 == BE k|- e mR
128 5 13.0 17.1 =IE BE k- mR
28| 1REE 13.8 13.0 RE BE fokgh - % mR
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
=%(8]| 6.5~85 | 75LLE | 1.0LLF | 25LLF 50LLF
EHIE (75%1E) - 10 0.8(0.9) i 790
48] 76 11 <05 4 23
6A|l 74 9.4 0.8 A 790
8A|l 77 8.4 0.9 A 1300
10A] 77 9.6 0.6 4 1700
12A] 76 11 <05 A 430
2A] 8o 11 15 <1 490
BEIER
N INESS R ANMESOL  HFE BiKEE  |[F¥ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#&El 001LLTF [ ER/H | 001LLF [ 0058 F [ 0.01LLF [ 0.0005LLF ERH
EiH{E - - - - - - =
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
o004 nwe |1,2-090[11-S500|P2-1,2-250(1,1,1-k)50
PCB gy | PRERR |\ 'hrgy | 'zzey | mzFLy AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s E#RE [0.02LLF ] 0.002LLF [0.004LLF] 0.02LLF | 0.04LLF 1LF
iy - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
1,1.2-hy)5 (FUS0A|FrS/aRT(1,3-050 = S 35e FAAUH
oazsy |TFLY | FLv | mgax|T77A | YRIY NI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E (5] 0.006 L F[0.03LLF | 0.01LLF [0.002LLF]0.006 L F| 0.003LLF 0.02LLF
iy - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
10A] - - - - - - -
128 - - - - - - -
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#E{E] 0.01LLF [0.01LLF 10LLF 0.8LLF 1LLF
EET) - - - - -
7y - - - -
;] - - - -
)] - - - -
104 - - - - -
124 - - - - -
28] - - : :
ZTDHhIFE
N—A~FH \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TiH{E - 0.28 0.021 - 0.005 - -
4R - 0.23 0.007 - <0.005 - -
64 - 0.30 0.016 - 0.007 - -
8A - 0.27 0.012 - <0.005 - -
10A4 - 0.31 0.023 = <0.005 - -
124 - 0.32 0.030 = <0.005 - -
28 — 0.24 0.038 — <0.005 - -
Eie AR | UV B : o e /= 3 3
IT/=| kS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (FF) (uS/cm)
TH{E = = 0.6 - - - 2600
4A - - 0.9 - - - 310
64 - - <0.5 = - - 2100
8A - - <0.5 = = = 4800
104 - - 0.7 = = - 1300
12H = = <0.5 = = = 2700
28 — — <0.5 — — — 4300




